UAl: 10/14~12/10 01F EQ Y E= EQ AT 20 A(ZX0f| 2}t CHE)
13:00~18:00 (5A|ZhH

&2 2291Zoom) 2Ol A% X HUZ A7t YIS WaH SYLCE
% g7} 232 TAEl0f YO, YUsts YAHE MEsI0] 24 FAAR S2 KL
REEEE

https://docs.google.com/forms/d/e/1FAIpQLSdK4WDOVxP6zwDKTDCyA47fcQOTw3DhLOMhaG

eb95KDPI9Ng/viewform?usp=sf link

& P8 1: 3| EM 9| HA et Antol o|s) @k

MHE QR IAE

1z
|0
+

- 2 =AMe 7HEA ofsf
- 2| A2 s A N N
N E S mE
10/14 - 3|HEMo| HA
SAtCHEtm

95 1A~286A| - ABERO| M1 84

rhsey Helle o4
10/21

9L 1A|~2B6A]



https://docs.google.com/forms/d/e/1FAIpQLSdK4WD0VrxP6zwDKTDCyA47fcQ0Tw3DhLOMhqG_eb95KDP9Ng/viewform?usp=sf_link
https://docs.google.com/forms/d/e/1FAIpQLSdK4WD0VrxP6zwDKTDCyA47fcQ0Tw3DhLOMhqG_eb95KDP9Ng/viewform?usp=sf_link

KSPMA
$ZHASYENE Y

<
E
80
e

Ni|

10/28

O|=tO{ LSt

1A|~QB6A|

2

- Mplus 2&

& 108 4: H[O[X| 2t SA

- H[O|X|2F SA12| 7= 7H'E

X
o
Bl
of

- H[OJX|2F =, R EIet 2 H

11/11

=

C

- HO|X|¢h &2

RIT A~226A]

- JASPQ} rstan A&

ki

| 712= 7H'd

M
&

<
4

Kd
Jod
~0

11/18

3

ol

Al CH

- Cox proportional hazards model2| 7|22}

1A~ 6A|

2=

-

ol

<o

-SAS A

ol

I

—I e

= o

o m._n

T <

31

M

Pl

=

L

on

0

o

s

101 i

t <

R 9

K &

rKO =
=<
O
{oF
of
14
<
{oF
of




- Classic approach
(Repeated measures ANOVA, MANOVA)

- Modern approach
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12/2 (Linear mixed-effects models)
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(autoregressive/cross-lagged models,

longitudinal CFA, growth-curve models etc)
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